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What “ane now sperations [4
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g_x_* [—\02Xcd @g{%@)
d 3 -7 B § result ig(2%2)
A B
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0 motiee the column
What 1 the 'S:\Y‘S‘E row o'g AB Uf B 31\!28 “we.\):éhﬂ

(l,l}"ew\—rj : &[_\] N c\: ]—\-6[ ] comems

o) AB 3ve_s column lo‘% AB.

Chﬂ—ew\rrj as lao+ 2¢+ Se
Cl,Q)—-enbrY s ... 1b+ ?_d+5f

Ao row 1 cr,f AB 19
[ (La+2c+5e)  (1b+2d +5§)]

(1x2)

oe See that Hhis (2X1) . the Same o8 <
= 1[0. b] (1%2)
+2[c d:lmzj

N 5[8 10%2)
gimilarl\/) row 2 oﬁ— AB will be
' 2 S 0*'3 S b
['é_ 3 3][2 y} ~ +o(ed]
+2[e £]
= [Gar2e)  (-br2f)]

row 3 o s5mik0u~\\/ mode .



Thuwe, the i-th row of A gives “weights” for the
rouds o{ B in order to moke the 1—th row
of AB.

Elementory row operahong (by cxmmp\z,s)

1) Swapping Rows : Cswap Rz"*%)
LRV

o (mnew R,)
= 1(0'0' RI) ? l O
c(newR,)is = L | ©©°
1(old R3) o |

‘e Ra) = 1(od R,) [

23 Sc,aUmSa. TOW b\/ C - (exi R2—3'|3—R2>

1 O O
> | O 73 O_}[
o o |

(mew R) = (o1d Ry)

3) AclaLQn.S Mubiple of o row (ﬁl'- Ry— RB_QR‘>

'\ o o 12 )
(neuo Rg} = ! } 3 - O]
2 I

—2(e1d R+ 1( old R3) — |[-2 0 1

1




Thas C,\nam.gin% nto edalory wézo/ww
o neduced echedoy S s
’VMHLPW\A Oé the 'bgpe)s above :

12 1

For ex&mplg,‘. Reduuce _/-\_ = [ 2 -3 Q} o (RQEF)
i 2 7 9

<R2—§ QZ_SR \
Ry = Ry —2R, s Yhe some an mlhf%



So, 1in totel, we see thot

1 O O 1 O DO | O O 1 |
[O l O’J O —Yq o] -3 1 O 3 -3 O‘}
O -3 | o o | -2 O | 2. 17 9
~~ ~— — ~ — o — — ~— P
EFs Ea 20 A

B . o © o2
-2 ~/a 0 |p = o | '/3:),
-2 -3 1 |7 O O 6
<

So ’Vnu.bl:ﬁpha‘v.g_ A bé H1n S{ngu.. meotruso
cho-u/\.ges A 4o (EF) S'MI]MAAA we C,OULLA/ZO

/ﬁwuthef and M oo A_,Ln e “Mmabtelxe
dname‘e A ke (RREF)
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Our two ways to /mml,l:np\q wnokrices Llwmwuj)

J
(ng onother S\m‘)\.rz. &L%orr\-hww &:‘meadm>

1) Compwbing AB us'm% the coluwmng c—g, B oa

“ weiah"'s ﬂ /6-0*‘ the coluwmrna % A

| 2 5 1 2
-1 O 2 [3 -3 O\}
L 2 -7 2. 17 9

— AN R

A e
S
column | ﬁ AB : 1[_;]_'_ 3[§]+2L%]=[l;3]

cown 2 22 2[§]-2[§]+7[5]= [ 12 ]
o 3 5280 1[§] 0[]~ 1[8]= [




— +2[3-BO] :]___;7 314(,,J
+ 5]__2 7 9]
—1 [z
row 2 of AE +O[GEEw] = [3 12 17]

row 3 (/éAB: e+« = [ 25 44 65]

171 31
172 \7
3 -S54 —bl

A “trird’ method (but mot ww.(.ba, olﬂﬁferen%)

b?%“iw ﬁ} [ ]

b

—~

A

”em—maw{ce, " the (1.3) - ew\m o AB G wmpuhecl
b\é, pojxa-n% elements 0*6 row 1 cré A ond
Colwmvm § of B

% (1,2) en’o—r‘\é = 1(2) + '2_(_3’)+ 5(7) = 3|
(2,2) eﬂ"ﬁ‘a = 1) + o(e) + 2(9) = 17

ord so on ...




